
Component Box Breakdown: 

Part #: C933PA / C9331 / C934PA / C9341  

Part # HB-C963-CVS
Item # Description Qty Item # Description Qty
10MMX50MMB 10 X 50 METRIC BOLT/10.9      6 38HDCC-S 3/8 HEAVY DUTY CABLE CLAMP    4
10MMX80MMB 10 X 80 METRIC BOLT/ 10.9     6 BTIE-K BLACK PLASTIC TIE    2
LT100     NUTS N' BOLTS 427 1 ML TUBE    1

Item # Description Qty Item # Description Qty
C963L    3" 1/2TON 6LUG,LEFT KNKLE    1 BSS275-B    BUMP STOP SPACER,2.75" TALL    2
C963R    3" 1/2TON 6LUG,RIGHT KNKLE    1 C766SBL-S  OE STYLE SWAY BAR LINK 3"GM    2
C963FCM-S 3"GM/CAD FRT CROSSMEMBER    1 HB-C963-CM HDWR BG:3",C963 CROSS-MEM    1
C963RCM1-D 3"GM/CAD REAR DRV CROSSM    1 HB-C963-CVS HDWR BG:3",C963 CV SPACERS    1
C963RCM2-P 3"GM/CAD REAR PASS CROSSM    1 HB-C963-DB HDWR BG:3",C963 DIFF BRKTS    1
C963PDB-B    1 HB-C963-FSE HDWR BG:3"FRT SHK EXT,AUTO    1
C963CVS-D    1
C963CVS-P    1

3"GM/CAD DIFF,PASS UPPER   
C963/3"CV SPCR,DRIVER,1.99" 
C963/3"CV SPCR,PASSEN,.813" (C9331 Box)

HB-C963-TBC HDWR BG:3"TORSION,CAD,DEN    1
C963TBD-S      23"GMC 1/2T,TORSION DRP BRK 

(C9331 Box)

Hardware Bag Breakdown:

Part # HB-C963-CM
Item # Description Qty Item # Description Qty
58X412FTB 5/8 X 4 1/2 FINE THREAD BLT    2 58SAEW   5/8 SAE WASHERS              10
58X112FTB 5/8 X 1 1/2 FINE THD,GR. 8    2 916SAEW  9/16 SAE WASHERS              3
58X112BHB 5/8 X 1 1/2 BUTTON HEAD BLT    2 916STVFTN 9/16-18 STOVER NUT,GRADE C    1
916X412FTB 9/16 X 4 1/2 FINE THRD BOLT    1 916FTN   9/16-18 NYLON INSERT LOCKNU    1
916X1FTB  9/16 X 1 FINE THD BOLT,GR 8    1 10MMN    10 MM N/I LOCKNUT             2
58FTN     5/8-18 NYLON INSERT LOCKNUT    4 CS2750-S CRUSH SLEEVE,3"FRT X-MEMB    2
58CTN     5/8-11 NYLON INSERT LOCKNUT    2

Part # HB-C963-DB
Item # Description Qty Item # Description Qty
916X4FTB  9/16 X 4 FINE THREAD BOLT     1 C968SHIM  GM 3/4T,SHIM-PASS DIFF BRKT    2
916X112FTB 9/16 X 1 1/2 FINE THRD BOLT    2 CS2265-S  CRUSH SLV,DRIV DIFF BRKT    1
916FTN    9/16-18 NYLON INSERT LOCKNU    3 C963DDB-B1 3"GM/CAD,DRIV DIF BKT,W/KEY    1
916SAEW   9/16 SAE WASHERS              4 C963DDB-B2 3"GM/CAD,DRIVER DIFF PLATE    1

Part # HB-C966-TBB (C9331 Box)
Item # Description Qty Item # Description Qty
12X112FTB    8 SP3445     4
12FTN       8 TBBS1590

GM TORSION BAR BUSHING
GM TORSION BAR SLEEVE    2

12SAEW   

1/2 X 1 1/2 FINE THREAD BOLT
1/2 FINE N/I LOCK NUT  
1/2 SAE WASHER              16




